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ch ¥h = T 29 63 26 37
< T EHT 15 35 15 20
o B SF HT 48 103 48 55
FH_EHT 27 70 38 32
sabusii]] 272 625 298 327
R AT 495 1,102 535 567
fgh P BT 27 58 23 35
= {EFH AT 37 78 35 43
fZ 5 ET 20 41 25 16
F5$T EHT 37 82 38 44
BT HT 114 195 96 99
ne J || By 31 68 31 37
1E EIET 22 49 23 26
REH 151 232 115 117
b AR ET 127 241 115 126
A SRR ET 702 1,496 697 799
IR A& dth 75 S (R BT 100 234 109 125
R A& Hh 75 PRI BT 20 44 18 26
FA kP HT 103 193 94 99
A Fh T 8 19 9 10
FA T 78 144 73 71




T&AltHEHEUVAO TR204E 48 1B
% # =

i) #2|1 A A 5 =
A& = T 23 35 18 17
/INKERET 19 46 22 24
A T HT 76 127 55 72
HNET 61 108 55 53
RFxHET 734 1,679 838 841
RFxFEHET 355 751 349 402
Pl u:i] 1,253 2,630 1,224 1,406
EalcNEL 127 212 101 111
il 602 1,096 488 608
Fa T iR ET 214 478 239 239
¥ KHT 551 961 459 502
FAREET—TH 712 1,568 728 840
BREET=TH 195 387 197 190
AREEI=TH 297 646 297 349
AREEETH 527 1,096 527 569
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KEBETH 159 309 141 168
] 277 515 230 285
eitB—TH 223 443 219 224
B —TH 502 1,000 468 532
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RELEF/NTH 362 745 360 385
X&EFETH 339 691 324 367
[ &R B ith X ) 13,782 31,336 14,888 16,448
EE&—TH 164 354 150 204
FE-TH 262 555 244 311
FE&=TH 310 698 331 367
fEst b BT 212 455 208 247
JE st hET 210 442 216 226
JEt FgHT 130 274 142 132
JEt BT 50 173 06 77
JE st FRHET 88 169 77 92
& FE ET 36 100 49 51
Jt FTET 12 20 9 11
A T HT 54 170 89 81
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